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QUESTION 1

FCoE appears to be properly configured. Which two steps should you take to verify theFCoE configuration? (Choose
two.) 

A. Run the feature fcoe command. 

B. Verify that the jumbo MTU is properly set. 

C. Ensure that the license has been applied. 

D. Utilize the proper CoS values on each side. 

Correct Answer: BD 

 

QUESTION 2

Storage VDC creation has failed. Which two steps should be taken before creating the storage VDC? (Choose two.) 

A. Check that the F1 module has the FCoE license installed. 

B. Check that the FCoE feature is enabled on the N7K. 

C. Check that you have allocated the interfaces of the F module on the VDC. 

D. Check that the network QoS non-drop policy is configured for FCoE traffic. 

E. Check that the FCoE VLANs are allocated on the VDC. 

F. Check that the M2 module has the FCoE license installed. 

Correct Answer: BD 

 

QUESTION 3

There is an ARP storm in VDC 1. Some users on VDC 2 notice that ARP is not resolving for their gateway on the Cisco
Nexus core. What is the cause? 

A. The ARP CoPP class committed information rate is exceeded, resulting in ARP loss in all VDCs. 

B. The administrator has not correctly configured the ARP CoPP class in VDC 2. 

C. The ARP traffic in VDC 1 is copied to the host ports in VDC 2, causing overutilization and output discards. 

D. Because the ARP process in the default VDC (VDC 1) is responsible for processing ARP traffic for all VDCs, VDC 2
will be affected. 

Correct Answer: A 
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QUESTION 4
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The Cisco Nexus 2248 FEX has been added recently to the network via a vPC to the Nexus 5000 switches; however,
connectivity is not yet operational. What is the problem with the configuration? 
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A. Both Nexus 5000 switches must associate to the same FEX number 

B. Each Nexus 5000 should have its own FEX to support a straight-through topology. 

C. The maximum number of links for pinning purposes should be increased to 2. 

D. Ethernet1/18 must be configured without a port channel. 

Correct Answer: D 

 

QUESTION 5

Refer to the exhibit. 

What is the cause of the ISSU failure when using the command show system internal csm globalinfo? 

A. The command conf-t is holding a lock and not released it. 

B. The SSN feature is not enabled on both switches. 

C. The reference count is less than 1 due to a lack of successful config-sync. 

D. It cannot be determined from the output. 

E. An Administrator is logged in on another session and has a lock of the session data base to prevent ISSU. 

Correct Answer: A 
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